jFELICITACIONES! HERRAMIENTAS Y PIEZAS INCLUIDAS ARMADO DESILLA ESPECIFICACIONES TECNICAS Garantia limitada de productos fé"“’ "“"E"E;’ESW'“‘:,"E la 93"3““ad e del punto de vent
E 1pieza M 3 piezas 2 Los equipos y/o accesorios Vorago estan cubiertos por una garantia limitada Losrecomos de garantia son procesados o traués del punlo de vena,
E por el tiempo indicado en la tabla de vigencia anexa, contando a partir de la urante los primeros 15 dias posteriores  la compra, siempre y cuando
= foeho do ot ) o o cumplan con los requisitos. Los reclamos de garantia que no puedan ser
~ . . echa de adquisicion, contra cualquier defecto de fabricacion
Ahora tienes una nueva companera para tus juegos), Articulo Silla gamer | funcionsmiento, siempre y cuando hayan sido utilzaco bajo condicones procesados s taves delpunto de venta y toda Inauitudrelaconada con el
cémoday transpirable, disefiada especialmente para ti - ~N 1 Materfal Poliuretano + ABS + T o e e 10 lo direccion de las oficinas centrales de Vorago en Francisco Vila No. 3, Col
Gracias por confiar en nosotros A1l pieza 17 pieza Metal + Nylon referente 3 los materiales. San Agustin, C.P. 45645, Tlajomulco de ZUiga, Jalisco, México.
Soporta: 150 Kg (max) roductos S Salvo en situaciones de fuerza mayor o caso fortuito, el tiempo de reparacion
i . _— Tablets, e moviidad, audio, Tecados, mouse, redes y accesoros | 12 Meses en ningun caso sera mayor a 30 dias naturales contados  partir de [a fecha
CONOCE TU SILLA @Im N7 K@@» 1l Mecanismo: Mariposa (metalico) MonTtores Y de recepcion del equipo en Vorago.
piezas — : o ooy e bl sore o conl s sers o 12 e 6 Mesest
Pistén Gas clase 4 (recubierto) n panel (display de pantalla) para el cual sslo serd de 12 meses. eses exclusiones
Equipos de cémputo 3 anos incluido Nanobay 3. g .
M85 . + Excepto equipos de computo donde el procesador se :{vuu.‘u\mmts'L ado| 36 Meses* Esta garantia no es valida en los siguientes casos:
uedas mm con Treno
@ e a) Cuando el producto se hubiese utilizado en condiciones distintas a las
= - = normales
Descansa brazos 3D con seguros b) Cuando el producto no hubiese sido operado de acuerdo con el instructivo
B 1pieza ) 6 piezas . 4 de uso que se le acompana
Estrella. Metélica 5 brazos Poliza de garantia Importante: Favor de leer y llenar esta poliza de garantia q p
¢ Cuando el producto hubiese sido alterado o reparado por personas no
y sellarla en la tienda en la compra del producto.
; Estructura: Acero con soporte de nylon autorizadas por parte de Vorago
MALLA TRANSPIRABLE G ] DleZa 0 _I ieza A A Producto: Silla gamer
p Espuma de poliuretano:| Alta densidad : Vorago no ofrece ninguna otra garantia expresa para este producto
Modelo: CGM700 Sello del Para hacer valida la garantia, asi como la adquisicion de partes, componentes,
: NGmero de fact
C 1pieza 2 Peso 23kg Feths 4a ebegn Para hacer valida una garantia debe de enviarnos la siguiente informacion al
K2 piezas correo: garantias@voragolive.com
] Responsabilidades 1 Modelo y color
2.- Falla de product
H 5 piezas P 1pieza 0 1 pieza La responsabilidad total de Vorago consistira en reparar o reemplazar el ~ T,-ac:e,s‘;a[gmlg Ze compra (digitalizado)
p ) P P producto, incluida la mano de obra y refacciones, sin ningtin costo para - 5 domiclio can C.p, teiéfono y nombre completo,
el comprador cuando se devuelva al punto de venta, presentando esta
MBX25 pdliza de garantia debidamente llenada y sellada por el establecimiento Disponibles en el establecimiento donde se adquiri el producto y/o en
- donde se adquirio el producto o copia del comprobante o recibo o nuestras oficinas centrales
q D! pi D!
D 1pieza H factura, en el que consten los datos especificos del producto objeto de
L 10 piezas i
W pieza (R) Tpieza e la compraventa, en los cuales se especifica la fecha de compra, para Devoluciones
/ verificar los tiempos dentro de garantia. Vorago podrd utilizar piezas €n el caso de devolucién de productos solo serd el lugar de compra por el
M6 " J oo P P cliente final. Sujeto a las politicas de devol tablecid: ]
nuevas, restauradas o usadas en buenas condiciones para reparar o i ujeto 3 las politicas de devolucion establecidas por el mismo
O reemplazar cualquier producto, sin costo adicional para el consumidor or
P! p:
€n el caso de equipos y/o accesorios que no tengan reparacion, se
TORNILLOS DE REPUESTO generard el cambio por un producto similar o de caracteristicas
superiores. La presente garantia cubre los gastos de transportacién del Vorago, S.A. de CV. Importadora Global Rida S.A. de CV.
producto que derive de su cumplimiento; los cuales seran atribuibles Francisco Villa No. 3 Matilde Marquez No. 68
- ®) @ @ directamente al proveedor del producto. En todo producto de Col. San Agustin, C.P. 45645 Eumn@ Peon de los Barios C.P. wa,f;(zo
GA M | N G C H Al R reemplazo se renovara el periodo original de la garantia. Vorago se rige ISUJSOJQL“’\;(;XU‘(EDZUWKJ& R\F:(a\‘déa'?:/re%gglsszigo Carranza, CDI
Mex25 Mex30 M8 x25 Po\yurethane + ABS + Metal + Ny\on bajo las normas internacionales de fabricacion de los productos Tel. (33) 3044 6666 .

Guia rapid




CONGRATULATIONS!

Now you have a new companion for your games!
Comfortable and breathable, designed especially for you
Thanks for trusting us

KNOW YOUR CHAIR

MESH FABRIC

| RECLINNING BACKREST

| 3D ADJUSTABLE
i ARMREST

METALLIC
STRUCTURE

HYDRAULICS

gamefactormx

TOOLS AND PARTS INCLUDED

E 1piece M 3 piezas
N 7 pieces

@

G Tpiece 0 1piece

(I =

A 1piece 1 7 piece

M825
B 1piece ] 6 pieces

M6x30
C 1piece K 2 piezas

M6x25
BJ‘LE‘(E)CE L 10 pieces

H 1pieces P 1piece Q 1piece

©

M6

(S

[ REPLACEMENT SCREWS

(m (mm (m o @ ©

M6 x25 M6 x30 M8 x25

CHAIR ASSEMBLY

TECHNICAL SPECIFICATIONS

Item Gaming chair
Material Polyurethane + ABS +
Metal + Nylon
Supports 150 Kg (max)
Mechanism: Butterfly (metallic)
Piston Gas class 4 (coated)
Wheels: 60 mm with brake
Arm rests: 3D with locks
Star: Metallic 5 arms
Structure: Steel with nylon support
Polyurethane foam: High density
Dimensions 650 x 570 x 1200 mm
Weight 23kg

ENGLISH

Limited product warranty

Vorago equipment and / or accessories are covered by a limited
warranty for the time indicated in the annexed validity table, counting
from the date of acquisition, against any manufacturing and operation
defect, provided they have been used under normal conditions of use
during the warranty period and for which it was manufactured. Vorago
guarantees the buyer the absence of anomalies regarding the materials.

Products Validity

PC, tablets, e-movility, audio, keyboards, mouse, networks and accessories |12 Months

LD Monito

* Except in panel (screen display) for which it il anly be 12 months. 36 Months*

Computer equipment 3 years Including Nanoay 3

* Except computer equipment where the processar s integrated 36 Months *
on the motherboard it will oy be 12 months

Warranty Important: Please read and complete this warranty policy and seal it
in the store when purchasing the product.

Product: Gaming chair

Model: CGM700 Dealer stamp

Brand: Game G Factor

Serial number:

Invoice number:

Delivery date:

Responsibilities

The total responsibility of Vorago will be to repair or replace the product,
including labor and parts, at no cost to the buyer when it is returned to
the point of sale, presenting this warranty policy properly completed and
stamped by the establishment where it was purchased. The product or
copy of the receipt or receipt or invoice, in which data of the product the
date of purchase is specified, to verify the times within the guarantee.
vorago may use new parts, restored or used in good condition to repair
or replace any product, at no additional cost to the consumer. In the case
of equipment and / or accessories that can not be repaired, the change
will be generated by a similar product or with superior characteristics. this
guarantee covers the transportation expenses of the product derived
from its fulfillment; which will be directly attributable to the supplier of the
product.In all replacement products, the original warranty period will be
renewed. Vorago is governed by international standards for the
manufacture of products

How to obtain warranty support

Guarantee claims are processed through the point of sale, during the first 15
days after the purchase, as long as they meet the requirements. Guarantee
claims that can not be processed through the point of sale and any concerns
related to the product purchased should be sent with the prepaid guide by
Vorago to the address of the Vorago headquarters in Francisco Villa No. 3, Col.
San Agustin, CP 45645, Tlajomulco de ZUniiga, Jalisco, Mexico.

Except in situations of force majeure or fortuitous event, the repair time in no
case will be greater than 30 calendar days from the date of receive of the
equipment in Vorago.

Exclusions

This guarantee is not valid in the following cases:

a) When the product had been used in conditions other than normal

b) When the product has not been operated in accordance with the instructions
for use instructios of use

) When the product has been altered or repaired by unauthorized persons by
Vorago

Vorago does not offer any other express warranty for this product
To make the guarantee valid, as well as the acquisition of parts, components,
consumables and accessories

To validate a guarantee, the following information must be sent to the email
garantias@voragolive.com

1.- Model and color

2.- Product failure

3.-Ticket or purchase invoice (digitized)

4.-Your address with CP, telephone and full Name.

Available in the establishment where the product was purchased and / or in our
central offices:

Returns
In the case of product return, it will only be the place of purchase by the end
customer. Subject to the return policies established by the same seller.

Vorago, S.A. de CV. Importadora Global Rida S.A. de CV.
Francisco Villa No. 3 Matilde Marquez No. 68

Col. San Agustin, CP. 45645 Colonia Pedn de los Baros C.P. 15520
Tlajomulco de Zdniga, Alcaldia Venustiano Carranza, COMX
Jalisco, México RFC: IGR1510164C2

Tel. (33) 3044 6666



